VH.153 p

ELESA & @] 1% 3

RS0 L

AP E R, WAL M, R R FEA,
ARG RER, WAWE,
- HER RS G R, TR, AEUNIRIATISO4753/ 2.

£ 75 Bl = d 6g | _

73041 | VH.153/25 p-M6x20 25 18 15 9 M6 20 14
73151 | VH.153/35 p-M6x16 M6 16 22
73161 | VH.153/35 p-M8x16 35 29 19 10 M8 16 26
73162 | VH.153/35 p-M8x25 M8 25 29
73163 | VH.153/35 p-M8x35 M8 35 32
73251 | VH.153/44 p-M8x20 M8 20 40
713252 | VH.153/44 p-M8x25 M8 25 42
73253 | VH.153/44 p-M8x30 M8 30 44
73254 | VH.153/44 p-M8x40 44 26 19 10 M8 40 47
73255 | VH.153/44 p-M8x50 M8 50 50
73261 | VH.153/44 p-M10x25 M10 25 52
73262 | VH.153/44 p-M10x30 M10 30 53
73263 | VH.153/44 p-M10x50 M10 50 60
73351 VH.153/54 p-M10x30 54 32 24 13 M10 30 76
73441 | VH.153/62 p-M10x40 6 2 o 2 M10 40 95
73451 | VH.153/62 p-M12x30 M12 30 105
73531 VH.153/74 p-M12x50 72 46 32 21 M12 50 180

“‘ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘elesa-BANTIR )

H
=
fra]
Rt

=4



